Trigonometry - graphs of functions
	Name :
	Class :
	Date :



	Mark :
	/8
	%



Copyright Mathster.com 2016. Licensed to Thornleigh Salesian College, Bolton

76339315988.mht
			1) Write down the name of the function for the graph shown below
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			2) Write down the minimum and the maximum values of the following 
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			3) Which of the following graphs matches the equation  .
			A:
						[image: ]
						B:
						[image: ]
		


			 
						 
						 
						 
		


			C:
						[image: ]
						D:
						[image: ]
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			4) Which of the following graphs matches the equation  .
			A:
						[image: ]
						B:
						[image: ]
		


			 
						 
						 
						 
		


			C:
						[image: ]
						D:
						[image: ]
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			5) Which of the following graphs matches the equation  .
			A:
						[image: ]
						B:
						[image: ]
		


			 
						 
						 
						 
		


			C:
						[image: ]
						D:
						[image: ]
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			6) Which of the following graphs matches the equation  .
			A:
						[image: ]
						B:
						[image: ]
		


			 
						 
						 
						 
		


			C:
						[image: ]
						D:
						[image: ]
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			7) Which of the following graphs matches the equation  .
			A:
						[image: ]
						B:
						[image: ]
		


			 
						 
						 
						 
		


			C:
						[image: ]
						D:
						[image: ]
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			8) Which of the following graphs matches the equation  .
			A:
						[image: ]
						B:
						[image: ]
		


			 
						 
						 
						 
		


			C:
						[image: ]
						D:
						[image: ]
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Solutions for the assessment Trigonometry - graphs of functions

			1) y = sin x


			2) The minimum value is   and the maximum value is  





			3) C


			4) A





			5) A


			6) B





			7) A


			8) C
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